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if (Math.random() <= 1/2.0) {
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public static double f (double x) {

return x*x -2;

public static double fdash (double x) {
return 2%*x;

}
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public class coinl {
public static int numOfheads (int N) { // numOfheads XY v K DEH
int head = 0; /! ROMAEEE 2 DK
for (int i=0; i<N; i++) { // BAF%& N BV ET

if (Math.random() <= 1/2.0) { // BLENTEH
head ++; // head IZ 1 &7

} // for XDHKDLY

return head; // head %KY
} // numOfheads AY v K DEHRKY
public static void main (String[] args) { // main XY v FKDERK

for (int k=0; k<10; k++) { // LLF%E 10 [E#: 0 K9

System.out.println(numOfheads(100)); // RO HEHZE KR

} // main AV v K DEHEKY
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*****************************************************************************/

public class newton {
public static void main (String[] args) { // main XYV Yy FDEH

double x = 9.0; // x OHIEME = 9.0
double epsilon = 0.0001; // ¢ = 0.0001

while (Math.abs(f(x))>= epsilon) { // If(x)|= ¢ ThbHMIT.

x = x - f(x)/fdash(x); // x & FLW x TEZXHEX 5,
}
System.out.println(x); /] RO
}
public static double f (double x) { /] AV YR £(x) DEHK
return x*x*x/100 -1 ;
}

public static double fdash (double x) { // AV v R fdash(x) DEHE

return 3*x*x/100;

} // newton 7 7 AD#KEDY
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public static double f (double x) {
return x*Xx;

}
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public class daikei2 {
public static void main (String[] args) {

double a = 0.0; // DX E

double b = 5.0; // RO XA

int N = 50; // FEIL X0

double h = (b-a)/N; // XEOlE 0.1 = (5-0)/50

double sum = 0; // EHEORPHERKREEZ AN D1-DDEK
for (int i=0; i<N; i++) { // BAT% N [E#V KT

sum = sum + (f(i*h)+f((i+1)*h))*h/2; // £(x) DOFFRHL
} // for DDV
System.out.println("UTfME = " + sum); // FEROHS

System.out.println("2|§¥0)ﬁﬁ =" 4
((5.0%5.0/2 - 2*Math.cos(5.0))-(0.0%0.0/2- 2*Math.cos(0.0))));

} // main AV vy RDO#EbY
public static double f (double x) { // AV Y F f(x) DIEFE

return x + 2*Math.sin(x);

} // daikei2 7 T AD#KPpY
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